



# Article A New Nonlinear Integral Inequality with a Tempered Y–Hilfer Fractional Integral and Its Application to a Class of Tempered Y–Caputo Fractional Differential Equations

Milan Medved' <sup>1</sup>, Michal Pospíšil <sup>1,2,\*</sup> and Eva Brestovanská <sup>3</sup>

- <sup>1</sup> Department of Mathematical Analysis and Numerical Mathematics, Faculty of Mathematics, Physics and Informatics, Comenius University in Bratislava, Mlynská dolina, 842 48 Bratislava, Slovakia; milan.medved@fmph.uniba.sk
- <sup>2</sup> Mathematical Institute, Slovak Academy of Sciences, Štefánikova 49, 814 73 Bratislava, Slovakia
- <sup>3</sup> Department of International Management, Faculty of Management, Comenius University in Bratislava, Odbojárov 10, 831 04 Bratislava, Slovakia; eva.brestovanska@fm.uniba.sk
- \* Correspondence: michal.pospisil@fmph.uniba.sk

**Abstract:** In this paper, the tempered  $\Psi$ -Riemann–Liouville fractional derivative and the tempered  $\Psi$ -Caputo fractional derivative of order  $n - 1 < \alpha < n \in \mathbb{N}$  are introduced for  $C^{n-1}$ -functions. A nonlinear version of the second Henry–Gronwall inequality for integral inequalities with the tempered  $\Psi$ -Hilfer fractional integral is derived. By using this inequality, an existence and uniqueness result and a sufficient condition for the non-existence of blow-up solutions of nonlinear tempered  $\Psi$ -Caputo fractional differential equations are proved. Illustrative examples are given.

**Keywords:** tempered  $\Psi$ -Hilfer fractional integral inequality; tempered  $\Psi$ -Riemann-Liouville fractional derivative; tempered  $\Psi$ -Caputo fractional derivative; generalized Henry-Gronwall inequality; blow-up solution

MSC: 34A40; 34A08; 26A33; 26D15; 26D10

## 1. Introduction

The classical linear Gronwall integral inequality has played a fundamental role in the theory of ordinary and partial differential equations.

Many linear and nonlinear versions of this inequality can be found in the monographs [1–3]. All of such integral inequalities contained in these monographs have regular kernels. The most known and very often quoted nonlinear one is the Bihari inequality, originally proved in the paper [4]. Many other nonlinear integral inequalities are, in some sense, modifications of this inequality. The first result on linear integral inequality with the weakly singular kernel

$$t-s)^{\alpha-1}, \quad \alpha > 0, \tag{1}$$

frequently called the Henry lemma or Henry inequality, is proved in the famous monograph by D. Henry ([5], Lemma 7.1.1). In the book, it plays a fundamental role in the theory of semilinear parabolic equations. Another result also proved in this monograph ([5], Lemma 7.1.2) concerns the linear integral inequality with the weakly singular kernel

$$(t-s)^{\alpha-1}s^{\gamma-1}, \quad \alpha, \gamma > 0.$$

These two results are proved by an iteration argument. Unfortunately, this method is not applicable in nonlinear cases. A new approach (so-called desingularization method), presented in the papers [6,7], is suitable also for the investigation of nonlinear integral inequalities with various types of weakly singular kernels. This method is helpful in the



Citation: Medved', M.; Pospíšil, M.; Brestovanská, E. A New Nonlinear Integral Inequality with a Tempered  $\Psi$ -Hilfer Fractional Integral and Its Application to a Class of Tempered  $\Psi$ -Caputo Fractional Differential Equations. *Axioms* **2024**, *13*, 301. https://doi.org/10.3390/ axioms13050301

Academic Editors: Sotiris K. Ntouyas, Johnny Henderson and Kamsing Nonlaopon

Received: 31 March 2024 Revised: 27 April 2024 Accepted: 30 April 2024 Published: 1 May 2024



**Copyright:** © 2024 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). theory of fractional differential equations (see, e.g., [8]), abstract evolution differential equations (see, e.g., [7,9–11]), and parabolic partial differential equations. The results from the papers [6,7] are included altogether with their proofs in monographs ([12], Theorem 1.2.17) and ([13], Theorems 1.4.7–1.4.9). A generalization of ([13], Theorem 1.4.9) to nonlinear fractional iterative integral inequalities is proved in [14]. It is also applied in the proof of a sufficient condition for the nonexistence of blow-up solutions in a class of nonlinear integral equations with several integrals possessing weakly singular kernels of the form of (1), as in ([5], Lemma 7.1.1).

The desingularization method was successfully applied in many papers on integral inequalities with weakly singular kernels (see, e.g., recently published papers [15–18]) and in the study of asymptotic properties of fractional differential equations. The first result of this type was published in the paper [19]. Later, other papers followed (e.g., [9,20–26]). It is worth to mention that the Henry lemmas were generalized to weakly singular nonlinear integral inequalities with a delay [27], stochastic inequalities with singular kernels [28], integral inequalities with doubly singular kernels [29], etc.

In the present paper, we apply the desingularization method to nonlinear integral inequalities with the weakly singular kernel

$$\mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) := (\Psi(t) - \Psi(s))^{\alpha-1} \Psi(s)^{\gamma-1} \mathrm{e}^{-\lambda(\Psi(t) - \Psi(s))} \Psi'(s), \tag{2}$$

where  $\Psi$  is a  $C^1$ -function with a positive derivative. The case  $\gamma = 1$  was studied in the paper [30] and its linear form in [31], where the definition of the tempered  $\Psi$ -Caputo fractional derivative was introduced.

It is obvious that the second Henry inequality is obtained if  $\Psi(t) \equiv 1$ ,  $\lambda = 0$ , and the first one if, in addition,  $\gamma = 1$ . Clearly, the new integral inequality can be applied to some modifications of the above-mentioned fractional problems in the framework of tempered  $\Psi$ -fractional differential equations.

The structure of this paper is as follows: In the next part, we introduce the tempered  $\Psi$ -Riemann-Liouville fractional derivative and the tempered  $\Psi$ -Caputo fractional derivative. Moreover, some of their properties are derived. In Section 3, we prove the Henry-Gronwall inequality for integrals with kernel  $\mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}$ . In Section 4, we apply the integral inequality to obtain results for fractional differential equations involving the tempered  $\Psi$ -Caputo derivative. Here, we also provide examples of initial value problems with explicit solutions. Finally, Section 5 summarizes the results and outlines possible future research directions.

In the whole paper, we denote by  $\mathbb{N}$  and  $\mathbb{N}_0$  the set of all positive and nonnegative integers, respectively. Next, for  $a, b \in \mathbb{Z}$ , a < b, we use  $\mathbb{Z}_a^b$  for a discrete interval  $[a, b] \cap \mathbb{Z} = \{a, a + 1, \dots, b\}$ .

#### 2. Preliminaries

In this section, we recall known definitions and prove auxiliary results. Here, we also define the tempered  $\Psi$ -Riemann-Liouville fractional derivative.

**Definition 1 ([31]).** Let  $\alpha > 0$ ,  $\lambda \ge 0$ , and  $\Psi \in C^1[a, b]$  satisfy  $\Psi'(t) > 0$  for all  $t \in [a, b]$ . The tempered  $\Psi$ -Hilfer fractional integral of order  $\alpha > 0$  of a function  $x \in C[a, b]$  is defined by

$$I_a^{\alpha,\lambda,\Psi}x(t) = \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) \, x(s) \, ds$$

for  $t \in [a, b]$ , where  $\mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) = \mathcal{K}_{\Psi}^{\alpha,1,\lambda}(t,s)$  for  $\mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s)$  given by (2) and  $\Gamma(\cdot)$  is the Euler gamma function.

Note that

$$I_a^{\alpha,\lambda,\Psi}x(t) = e^{-\lambda\Psi(t)}I_a^{\alpha,\Psi}(e^{\lambda\Psi(t)}x(t)),$$
(3)

where  $I_a^{\alpha,\Psi} = I_a^{\alpha,0,\Psi}$  is the  $\Psi$ -Riemann–Liouville fractional integral [32,33], sometimes referred to as the fractional integral with respect to function  $\Psi$ . It is worth to mention that if  $x \in C[a, b]$ , then  $I_a^{\alpha,\lambda,\Psi}x \in C^{\lfloor \alpha \rfloor}$ , where  $\lfloor \cdot \rfloor$  is the floor function.

**Definition 2.** Let  $n \in \mathbb{N}$ ,  $n-1 < \alpha < n$ ,  $\lambda \ge 0$ , and  $\Psi \in C^n[a,b]$  satisfy  $\Psi'(t) > 0$  for all  $t \in [a,b]$ . The tempered  $\Psi$ -Riemann–Liouville fractional derivative of order  $\alpha$  of a function  $x \in C^{n-1}[a,b]$  is defined by

$${}^{RL}D_a^{\alpha,\lambda,\Psi}x(t) = \mathrm{e}^{-\lambda\Psi(t)} \Big( I_a^{n-\alpha,\lambda,\Psi}x(t) \Big)_{\lambda,\Psi}^{[n]}$$

where

$$x_{\lambda,\Psi}^{[n]}(t) = \left(\frac{1}{\Psi'(t)}\frac{d}{dt}\right)^n \left(e^{\lambda\Psi(t)}x(t)\right),$$

i.e.,

$${}^{RL}D_a^{\alpha,\lambda,\Psi}x(t) = \frac{\mathrm{e}^{-\lambda\Psi(t)}}{\Gamma(n-\alpha)} \left(\frac{1}{\Psi'(t)}\frac{d}{dt}\right)^n \int_a^t (\Psi(t) - \Psi(s))^{n-\alpha-1} \Psi'(s) \mathrm{e}^{\lambda\Psi(s)}x(s) \, ds.$$

Note that

$${}^{RL}D_a^{\alpha,\lambda,\Psi}x(t) = e^{-\lambda\Psi(t)} {}^{RL}D_a^{\alpha,\Psi}(e^{\lambda\Psi(t)}x(t))$$
(4)

for the  $\Psi$ -Riemann–Liouville fractional derivative,  ${}^{RL}D_a^{\alpha,\Psi} = {}^{RL}D_a^{\alpha,0,\Psi}$ , as introduced in [34].

**Definition 3.** Let  $n \in \mathbb{N}$ ,  $n - 1 < \alpha < n$ ,  $\lambda \ge 0$ , and  $\Psi \in C^n[a, b]$  satisfy  $\Psi'(t) > 0$  for all  $t \in [a, b]$ . The tempered  $\Psi$ -Caputo fractional derivative of order  $\alpha$  of a function  $x \in C^{n-1}[a, b]$  is defined by

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = {}^{RL}D_{a}^{\alpha,\lambda,\Psi}\left[x(t) - \mathrm{e}^{-\lambda\Psi(t)}\sum_{k=0}^{n-1}\frac{(\Psi(t) - \Psi(a))^{k}}{k!}x_{\lambda,\Psi}^{[k]}(a)\right]$$
(5)

for  $t \in [a, b]$ .

By denoting  $y(t) = e^{\lambda \Psi(t)} x(t)$ , we obtain

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = \mathrm{e}^{-\lambda\Psi(t) \ RL}D_{a}^{\alpha,\Psi}\left[y(t) - \sum_{k=0}^{n-1}\frac{(\Psi(t) - \Psi(a))^{k}}{k!}y_{\Psi}^{[k]}(a)\right],$$

where  $y_{\Psi}^{[n]}(t) = y_{0,\Psi}^{[n]}(t)$ . Now, if  $x \in C^n[a, b]$ , by using the definition of the  $\Psi$ -Caputo fractional derivative,  ${}^{C}D_{a}^{\alpha,\Psi}$ , from ([34], Definition 1), by ([35], Theorem 3),  ${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t)$  reads

$$\begin{aligned} a^{\alpha,\lambda,\Psi}_{a} x(t) &= e^{-\lambda \Psi(t) \ C} D_{a}^{\alpha,\Psi} y(t) \\ &= e^{-\lambda \Psi(t)} I_{a}^{n-\alpha,\Psi} \left( \frac{1}{\Psi'(t)} \frac{d}{dt} \right)^{n} y(t) \\ &= e^{-\lambda \Psi(t)} I_{a}^{n-\alpha,\Psi} x_{\lambda,\Psi}^{[n]}(t) \\ &= \frac{e^{-\lambda \Psi(t)}}{\Gamma(n-\alpha)} \int_{a}^{t} (\Psi(t) - \Psi(s))^{n-\alpha-1} \Psi'(s) x_{\lambda,\Psi}^{[n]}(s) \, ds, \end{aligned}$$
(6)

which agrees with the definition of the tempered  $\Psi$ -Caputo fractional derivative from ([31], Definition 6).

Next, we summarize several properties of the above-defined fractional operators in auxiliary lemmas.

1. 
$$I_a^{\alpha,\lambda,\Psi}I_a^{\beta,\lambda,\Psi}x(t) = I_a^{\alpha+\beta,\lambda,\Psi}x(t) \text{ for } \alpha, \beta > 0;$$
  
2.  $\left(I_a^{\alpha,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]} = e^{\lambda\Psi(t)}I_a^{\alpha-n,\lambda,\Psi}x(t) \text{ for } \alpha > n \in \mathbb{N}_0;$   
3.  $\left(I_a^{n,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]} = e^{\lambda\Psi(t)}x(t) \text{ for } n \in \mathbb{N}.$ 

**Proof.** By making use of fractional integral composition (see [34,36]), one derives

$$\begin{split} I_{a}^{\alpha,\lambda,\Psi}I_{a}^{\beta,\lambda,\Psi}x(t) &= \mathrm{e}^{-\lambda\Psi(t)}I_{a}^{\alpha,\Psi}I_{a}^{\beta,\Psi}(\mathrm{e}^{\lambda\Psi(t)}x(t)) \\ &= \mathrm{e}^{-\lambda\Psi(t)}I_{a}^{\alpha+\beta,\Psi}(\mathrm{e}^{\lambda\Psi(t)}x(t)) \\ &= I_{a}^{\alpha+\beta,\lambda,\Psi}x(t). \end{split}$$

Statement 1 is proved.

If n = 0, then  $\left(I_a^{\alpha,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]} = e^{\lambda\Psi(t)}I_a^{\alpha,\lambda,\Psi}x(t)$ . This confirms Statement 2 for n = 0. Let n > 0. Then,  $I_a^{\alpha,\lambda,\Psi}x \in C^{\lfloor\alpha\rfloor}[a,b]$  with  $\lfloor\alpha\rfloor \ge n$ . By subsequently differentiating, one obtains

$$\begin{split} \left(I_a^{\alpha,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]} &= \left(\frac{1}{\Psi'(t)}\frac{d}{dt}\right)^n \left(e^{\lambda\Psi(t)}I_a^{\alpha,\lambda,\Psi}x(t)\right) \\ &= \frac{1}{\Gamma(\alpha)} \left(\frac{1}{\Psi'(t)}\frac{d}{dt}\right)^n \int_a^t (\Psi(t) - \Psi(s))^{\alpha-1}\Psi'(s)e^{\lambda\Psi(s)}x(s)\,ds \\ &= \frac{1}{\Gamma(\alpha-1)} \left(\frac{1}{\Psi'(t)}\frac{d}{dt}\right)^{n-1} \int_a^t (\Psi(t) - \Psi(s))^{\alpha-2}\Psi'(s)e^{\lambda\Psi(s)}x(s)\,ds \\ &= \left(I_a^{\alpha-1,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n-1]} = \dots = \left(I_a^{\alpha-n+1,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[1]} \\ &= \frac{1}{\Gamma(\alpha-n+1)\Psi'(t)}\frac{d}{dt} \int_a^t (\Psi(t) - \Psi(s))^{\alpha-n}\Psi'(s)e^{\lambda\Psi(s)}x(s)\,ds. \end{split}$$

Now, if  $\alpha = n$ , this is equal to

$$\frac{1}{\Psi'(t)}\frac{d}{dt}\int_a^t e^{\lambda\Psi(s)}x(s)\Psi'(s)\,ds = e^{\lambda\Psi(t)}x(t)$$

proving Statement 3; on the other hand, for  $\alpha > n$ , one can differentiate once more to obtain

$$\frac{1}{\Gamma(\alpha-n)}\int_a^t (\Psi(t)-\Psi(s))^{\alpha-n-1}\Psi'(s)\mathrm{e}^{\lambda\Psi(s)}x(s)\,ds=\mathrm{e}^{\lambda\Psi(t)}I_a^{\alpha-n,\lambda,\Psi}x(t),$$

which proves Statement 2 for n > 0.  $\Box$ 

From now on, we refer to the statements of the latter lemma by adding the corresponding number, e.g., Lemma 1(1). The same holds for the next lemma.

**Lemma 2.** Let  $n \in \mathbb{N}$ ,  $n - 1 < \alpha < n$ ,  $\lambda \ge 0$ , and  $\Psi \in C^n[a, b]$  satisfy  $\Psi'(t) > 0$  for all  $t \in [a, b]$ . Then, the following holds: 1. for  $k \in \mathbb{N}_0$ ,

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}\left(\mathrm{e}^{-\lambda\Psi(t)}(\Psi(t)-\Psi(a))^{k}\right) = \begin{cases} 0, & n > k, \\ \frac{\mathrm{e}^{-\lambda\Psi(t)}k!}{\Gamma(k+1-\alpha)}(\Psi(t)-\Psi(a))^{k-\alpha}, & n \le k. \end{cases}$$

2. 
$$^{C}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\beta,\lambda,\Psi}x(t) = I_{a}^{\beta-\alpha,\lambda,\Psi}x(t)$$
 for  $\alpha < \beta$  and  $x \in C[a,b]$ .

- 3.  $^{C}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\alpha,\lambda,\Psi}x(t) = x(t)$  for  $x \in C[a,b]$ .
- 4. for  $x \in C^{n-1}[a, b]$ .

$$I_a^{\alpha,\lambda,\Psi} {}^C D_a^{\alpha,\lambda,\Psi} x(t) = x(t) - \mathrm{e}^{-\lambda\Psi(t)} \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} x_{\lambda,\Psi}^{[k]}(a).$$

**Proof.** First, observe that

$$\begin{split} \left[ \mathrm{e}^{-\lambda \Psi(t)} (\Psi(t) - \Psi(a))^k \right]_{\lambda, \Psi}^{[n]} &= \left( \frac{1}{\Psi'(t)} \frac{d}{dt} \right)^n \left[ (\Psi(t) - \Psi(a))^k \right] \\ &= \begin{cases} 0, & n > k, \\ \frac{k!}{(k-n)!} (\Psi(t) - \Psi(a))^{k-n}, & n \le k. \end{cases} \end{split}$$

Then, Formula (6) is applied to immediately see that Statement 1 holds whenever n > k. If  $n \le k$ , the substitution  $\Psi(s) = \sigma(\Psi(t) - \Psi(a)) + \Psi(a)$  results in

$$\label{eq:constraint} \begin{split} ^{C}D_{a}^{\alpha,\lambda,\Psi} & \left(\mathrm{e}^{-\lambda\Psi(t)}\left(\Psi(t)-\Psi(a)\right)^{k}\right) \\ &= \frac{\mathrm{e}^{-\lambda\Psi(t)}}{\Gamma(n-\alpha)} \int_{a}^{t} (\Psi(t)-\Psi(s))^{n-\alpha-1} \Psi'(s) \left[\mathrm{e}^{-\lambda\Psi(s)}(\Psi(s)-\Psi(a))^{k}\right]_{\lambda,\Psi}^{[n]} ds \\ &= \frac{\mathrm{e}^{-\lambda\Psi(t)}k!}{\Gamma(n-\alpha)(k-n)!} \int_{a}^{t} (\Psi(t)-\Psi(s))^{n-\alpha-1}(\Psi(s)-\Psi(a))^{k-n} \Psi'(s) \, ds \\ &= \frac{\mathrm{e}^{-\lambda\Psi(t)}(\Psi(t)-\Psi(a))^{k-\alpha}k!}{\Gamma(n-\alpha)(k-n)!} \int_{0}^{1} (1-\sigma)^{n-\alpha-1}\sigma^{k-n} \, ds \\ &= \frac{\mathrm{e}^{-\lambda\Psi(t)}k!}{\Gamma(n-\alpha)(k-n)!} B(n-\alpha,k-n+1)(\Psi(t)-\Psi(a))^{k-\alpha} \\ &= \frac{\mathrm{e}^{-\lambda\Psi(t)}k!}{\Gamma(k+1-\alpha)}(\Psi(t)-\Psi(a))^{k-\alpha}, \end{split}$$

where  $B(\cdot, \cdot)$  is the Euler beta function. So, Statement 1 is proved.

Now,  $I_a^{\beta,\lambda,\Psi}x \in C^{\lfloor\beta\rfloor}[a,b]$  with  $\lfloor\beta\rfloor \ge n-1$ . So, in general, Formula (6) cannot be used. Instead, we use Definition 3. Under the assumptions of Statement 2, we obtain, as a consequence of Lemma 1(2),

$$\left(I_a^{\beta,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[k]}\Big|_{t=a}=0, \quad k=0,1,\ldots,n-1=\lfloor\alpha\rfloor<\beta.$$

Consequently, by using (5), Definition 2, and Lemma 1, we have

$$^{C}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\beta,\lambda,\Psi}x(t) = {} ^{RL}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\beta,\lambda,\Psi}x(t)$$

$$= e^{-\lambda\Psi(t)} \left(I_{a}^{n-\alpha,\lambda,\Psi}I_{a}^{\beta,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]}$$

$$= e^{-\lambda\Psi(t)} \left(I_{a}^{n+\beta-\alpha,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]}$$

$$= e^{-\lambda\Psi(t)}e^{\lambda\Psi(t)}I_{a}^{\beta-\alpha,\lambda,\Psi}x(t)$$

$$= I_{a}^{\beta-\alpha,\lambda,\Psi}x(t).$$

This proves Statement 2.

Similarly, we have

$$\left(I_a^{\alpha,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[k]}\Big|_{t=a}=0, \quad k=0,1,\ldots,n-1=\lfloor \alpha \rfloor,$$

and

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\alpha,\lambda,\Psi}x(t) = \mathrm{e}^{-\lambda\Psi(t)} \left(I_{a}^{n,\lambda,\Psi}x(t)\right)_{\lambda,\Psi}^{[n]} = x(t)$$

due to Lemma 1(3), which proves Statement 3.

To show Statement 4, we apply an analogous result for  $\lambda = 0$  proved in ([34], Theorem 1):

$$\begin{split} I_a^{\alpha,\lambda,\Psi} {}^C D_a^{\alpha,\lambda,\Psi} x(t) &= \mathrm{e}^{-\lambda\Psi(t)} I_a^{\alpha,\Psi} {}^C D_a^{\alpha,\Psi} (\mathrm{e}^{\lambda\Psi(t)} x(t)) \\ &= \mathrm{e}^{-\lambda\Psi(t)} \left[ \mathrm{e}^{\lambda\Psi(t)} x(t) - \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} \left( \mathrm{e}^{\lambda\Psi(t)} x(t) \right)_{\Psi}^{[k]} \Big|_{t=a} \right] \\ &= x(t) - \mathrm{e}^{-\lambda\Psi(t)} \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} x_{\lambda,\Psi}^{[k]}(a). \end{split}$$

This completes the proof.  $\Box$ 

Let us consider the following initial value problem:

[1]

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = f(t,x(t)), \quad t \ge a,$$
(7)

$$x_{\lambda,\Psi}^{[\kappa]}(a) = x_a^k, \quad k \in \mathbb{Z}_0^{n-1}$$
(8)

for some  $x_a^k \in \mathbb{R}^N$ ,  $k \in \mathbb{Z}_0^{n-1}$ , where  $n-1 < \alpha < n \in \mathbb{N}$ ,  $\lambda \ge 0$ ,  $\Psi \in C^n[a, \infty)$  satisfies  $\Psi'(t) > 0$  for all  $t \ge a$ , and  $f \in C([a, \infty) \times \mathbb{R}^N, \mathbb{R}^N)$ . Here, the differential operator is to be understood component-wise. In accordance with ([37], Definition 4) and Definition 3, function  $x \in C^{n-1}[a, a + h)$  for some  $0 < h \le \infty$  is a solution of initial value problem (7) and (8) if  $D_a^{\alpha,\lambda,\Psi}x(t)$  exists and is continuous on [a, a + h), and x fulfills Equation (7) for all  $t \in [a, a + h)$  and initial conditions (8).

The following theorem extends ([37], Theorem 2) to  $C^{n-1}$ -functions.

**Theorem 1.** Function x is a solution of initial value problem (7) and (8) if and only if it satisfies

$$x(t) = e^{-\lambda \Psi(t)} \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} x_a^k + \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) f(s,x(s)) \, ds, \quad t \ge a.$$
(9)

**Proof.** If *x* solves (7) and (8), the application of operator  $I_a^{\alpha,\lambda,\Psi}$  to Equation (7) yields (9), due to Lemma 2(4) and conditions (8).

Now, assume that *x* fulfills integral Equation (9). Applying  ${}^{C}D_{a}^{\alpha,\lambda,\Psi}$  results in

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = {}^{C}D_{a}^{\alpha,\lambda,\Psi}\left(e^{-\lambda\Psi(t)}\sum_{k=0}^{n-1}\frac{(\Psi(t)-\Psi(a))^{k}}{k!}x_{a}^{k}\right)$$
$$+ {}^{C}D_{a}^{\alpha,\lambda,\Psi}I_{a}^{\alpha,\lambda,\Psi}f(t,x(t))$$
$$= f(t,x(t)),$$

where Statements 1 and 3 of Lemma 2 were applied. It only remains to verify initial conditions (8). For each  $j \in \mathbb{Z}_0^{n-1}$ , we have

$$\left( e^{-\lambda \Psi(t)} \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} x_a^k \right)_{\lambda, \Psi}^{[j]} = \left( \frac{1}{\Psi'(t)} \frac{d}{dt} \right)^j \sum_{k=0}^{n-1} \frac{(\Psi(t) - \Psi(a))^k}{k!} x_a^k$$
$$= \sum_{k=j}^{n-1} \frac{(\Psi(t) - \Psi(a))^{k-j}}{(k-j)!} x_a^k,$$

that is equal to  $x_a^j$  at t = a. Moreover,

$$\left(I_a^{\alpha,\lambda,\Psi}f(t,x(t))\right)_{\lambda,\Psi}^{[j]} = e^{\lambda\Psi(t)}I_a^{\alpha-j,\lambda,\Psi}f(t,x(t))$$

by Lemma 1(2). Here, we used  $0 \le j \le \lfloor \alpha \rfloor < \alpha$ . One can easily see that

$$\left(I_a^{\alpha,\lambda,\Psi}f(t,x(t))\right)_{\lambda,\Psi}^{[j]}\Big|_{t=a} = 0 \quad \text{for each } j \in \mathbb{Z}_0^{n-1}.$$

This verifies the initial conditions and completes the proof.  $\Box$ 

## 3. Integral Inequalities

Here, we investigate the integral inequality

$$u(t) \le a(t) + b(t) \int_{a}^{t} \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) F(s) \,\omega(u(s)) \, ds, \quad a \le t < T.$$

$$(10)$$

In [33], an inequality of the Henry–Gronwall type (see ([33], Theorem 3)) is proved for inequality (10) with  $\lambda = 0$ ,  $\omega(u) \equiv u$ , and  $F(t) \equiv 1$ . In the papers [6,7], inequality (10) with  $\lambda = 0$  and  $\Psi(t) \equiv t$  is studied.

First, we recall a generalized Hölder inequality.

**Lemma 3.** Let  $n \in \mathbb{N}$  and  $p_i > 1$  for  $j \in \mathbb{Z}_1^n$  satisfy

$$\sum_{j=1}^{n} \frac{1}{p_j} = 1.$$
(11)

Then,

$$\int_{a}^{b} \prod_{j=1}^{n} u_{j}(s) \, ds \leq \prod_{j=1}^{n} \left( \int_{a}^{b} |u_{j}(s)|^{p_{j}} ds \right)^{\frac{1}{p_{j}}}.$$
(12)

This lemma was proved by A. Kufner, O. John, and S. Fučík in ([38], p. 67) (see also ([39], 5.9c, pp. 355–356)).

**Theorem 2.** Let  $a \in \mathbb{R}$ ;  $\alpha, \gamma \in (0,1)$ ;  $\lambda > 0$ ; p,q,r > 1;  $p < (1-\alpha)^{-1}$ ;  $q < (1-\gamma)^{-1}$ satisfy  $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$ ;  $a, b \in C[a, T)$  be nonnegative functions;  $b(\cdot)$  be nondecreasing, where  $a < T \le \infty$ ; and  $\Psi \in C^1[a, \infty)$  satisfy  $\Psi'(t) > 0$  for all  $t \in (a, \infty)$ . Let  $\omega \in C[0, \infty)$  be a positive, nondecreasing function;  $F, u \in C[a, T)$  be nonnegative functions; and u satisfy inequality (10). Then,

$$u(t) \le \left[\Xi^{-1}\left(\Xi(A(t)) + B(t)\int_{a}^{t} \mathrm{e}^{r\Psi(s)}\Psi'(s)F(s)^{r}ds\right)\right]^{1/r}$$
(13)

for all  $a \le t < T$  for which the right side makes sense, where

$$A(t) = 2^{r-1} \sup_{a \le s \le t} a(s)^r, \qquad B(t) = 2^{r-1} K^r \sup_{a \le s \le t} b(s)^r,$$

$$K = K(\alpha, \gamma, \lambda, p, q) = K_1(\alpha, \lambda, p) K_2(\gamma, q),$$

$$K_1(\alpha, \lambda, p) = \left[\frac{\Gamma(p(\alpha - 1) + 1)}{(p\lambda)^{p(\alpha - 1) + 1}}\right]^{1/p},$$

$$K_2(\gamma, q) = \left[\frac{\Gamma(q(\gamma - 1) + 1)}{q^{q(\gamma - 1) + 1}}\right]^{1/q},$$

$$\Xi(z) = \int_{z_0}^z \frac{d\sigma}{\omega(\sigma^{1/r})^r} \quad \text{for } z_0, z \ge 0,$$
(14)

and  $\Xi^{-1}$  is the inverse of  $\Xi$ .

**Proof.** Since  $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$ , we rewrite  $\Psi'(t)$  as  $\Psi'(t)^{1/p} \Psi'(t)^{1/q} \Psi'(t)^{1/r}$ . By using this equality, the identity  $e^{\Psi(t)} e^{-\Psi(t)} = 1$ , and Lemma 3, we obtain

$$\begin{split} \int_{a}^{t} \mathcal{K}_{\Psi}^{a,\lambda,\Psi}(t,s) F(s) \,\omega(u(s)) \,ds \\ &\leq \left( \int_{a}^{t} \Psi'(s) (\Psi(t) - \Psi(s))^{p(\alpha-1)} \mathrm{e}^{-p\lambda(\Psi(t) - \Psi(s))} ds \right)^{1/p} \\ &\quad \times \left( \int_{a}^{t} \Psi'(s) \mathrm{e}^{-q\Psi(s)} \Psi(s)^{q(\gamma-1)} ds \right)^{1/q} \left( \int_{a}^{t} \Psi'(s) \,\mathrm{e}^{r\Psi(s)} F(s)^{r} \omega(u(s))^{r} ds \right)^{1/r} \\ &= \left( \int_{0}^{\Psi(t) - \Psi(a)} \sigma^{p(\alpha-1)} \mathrm{e}^{-p\lambda\sigma} \,d\sigma \right)^{1/p} \left( \int_{\Psi(a)}^{\Psi(t)} \mathrm{e}^{-q\tau} \tau^{q(\gamma-1)} \,d\tau \right)^{1/q} \\ &\quad \times \left( \int_{a}^{t} \mathrm{e}^{r\Psi(s)} F(s)^{r} \omega(u(s))^{r} \Psi'(s) \,ds \right)^{1/r} \\ &\leq \left( \frac{\Gamma(p(\alpha-1)+1)}{(p\lambda)^{p(\alpha-1)+1}} \right)^{1/p} \left( \frac{\Gamma(q(\gamma-1)+1)}{q^{q(\gamma-1)+1}} \right)^{1/q} \\ &\quad \times \left( \int_{a}^{t} \mathrm{e}^{r\Psi(s)} F(s)^{r} \omega(u(s))^{r} \Psi'(s) \,ds \right)^{1/r}. \end{split}$$

By (10), this yields the inequality

$$u(t) \le a(t) + Kb(t) \left( \int_a^t \mathrm{e}^{r\Psi(s)} F(s)^r \omega(u(s))^r \,\Psi'(s) \, ds \right)^{1/r},\tag{16}$$

where the constant *K* is defined by (14). By using the estimation  $(\xi + \zeta)^r \leq 2^{r-1}(\xi^r + \zeta^r)$  valid for any  $\xi, \zeta \geq 0$ , we obtain, from (16),

$$u(t)^{r} \leq \bar{a}(t) + \bar{b}(t) \int_{a}^{t} e^{r\Psi(s)} F(s)^{r} \omega(u(s))^{r} \Psi'(s) \, ds,$$
(17)

where

$$(t) = 2^{r-1}a(t)^r, \qquad \overline{b}(t) = 2^{r-1}K^rb(t)^r.$$
 (18)

If  $v(t) = u(t)^r$ , we rewrite inequality (17) as

ā

$$v(t) \le \bar{a}(t) + \bar{b}(t) \int_{a}^{t} e^{r\Psi(s)} \Psi'(s) F(s)^{r} [\omega(v(s)^{1/r})]^{r} ds.$$
(19)

A theorem of Butler and Rogers ([40], Theorem, p. 78) implies

$$v(t) \le \Xi^{-1} \bigg( \Xi(A(t)) + B(t) \int_{a}^{t} e^{r \Psi(s)} \Psi'(s) F(s)^{r} \, ds \bigg).$$
<sup>(20)</sup>

Thus, inequality (13) is verified.  $\Box$ 

For our purpose, it is worth to explicitly state the following corollary.

**Corollary 1.** Let  $a \in \mathbb{R}$ ;  $\alpha, \gamma \in (0,1)$ ;  $\lambda > 0$ ; p,q,r > 1;  $p < (1-\alpha)^{-1}$ ;  $q < (1-\gamma)^{-1}$ satisfy  $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$ ;  $b \in C[a,T)$  be a nonnegative, nondecreasing function, where  $a < T \le \infty$ ; and  $\Psi \in C^1[a,\infty)$  satisfy  $\Psi'(t) > 0$  for all  $t \in (a,\infty)$ . Let  $u \in C[a,T)$  be a nonnegative function satisfying

$$u(t) \leq b(t) \int_{a}^{t} \mathcal{K}_{\Psi}^{a,\gamma,\lambda}(t,s) \, ds, \quad a \leq t < T.$$

Then,

$$u(t) \le 2^{\frac{r-1}{r}} K \left(\frac{\mathrm{e}^{r\Psi(t)} - \mathrm{e}^{r\Psi(a)}}{r}\right)^{\frac{1}{r}} \sup_{a \le s \le t} b(s) \tag{21}$$

for all  $a \le t < T$ , where K is given by (14). In particular,

$$\int_{a}^{t} \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) \, ds \leq 2^{\frac{r-1}{r}} K \left( \frac{\mathrm{e}^{r\Psi(t)} - \mathrm{e}^{r\Psi(a)}}{r} \right)^{\frac{1}{r}}$$

for all  $a \leq t < T$ .

**Proof.** The direct use of Theorem 2 with  $a(t) \equiv 0$  and  $F(t) \equiv 1 \equiv \omega(t)$  yields (21). Notice that this time,  $\Xi(z) = \ln \frac{z}{z_0}$ , so the inverse in (13) is defined for any *t*.

#### 4. Applications to Initial Value Problems Involving the Tempered $\Psi$ -Caputo Derivative

This section applies the results proved in Section 3 to initial value problems corresponding to fractional differential equations with the tempered  $\Psi$ -Caputo fractional derivative. We consider the following assumptions:

**H1** There is  $\gamma \in (0, 1)$  such that

$$t^{1-\gamma} \|f(t,x) - f(t,y)\| \le L \|x - y\| \quad \text{for all } (t,x), (t,y) \in [a,\infty) \times \mathbb{R}^N$$

**H2**  $\Psi(t) \leq t$  for all  $t \geq a$ .

The type of "Lipschitz condition" assumed in H1 was introduced in the paper [41].

First, we state a result on the existence of a unique solution of the initial value problem.

**Theorem 3.** Let  $\alpha \in (0,1)$ ,  $\lambda > 0$ , and  $\Psi \in C^1[a,\infty)$  satisfy  $\Psi'(t) > 0$  for all  $t \in (a,\infty)$ . Moreover, let conditions H1 and H2 be fulfilled and

$$\alpha + \gamma > 1. \tag{22}$$

Then, there exists h > 0 such that there is a unique solution x of initial value problem (7) and (8) on the interval  $I_h = [a, a + h)$ .

**Proof.** Let us fix p, q, r > 1,  $p < (1 - \alpha)^{-1}$ ,  $q < (1 - \gamma)^{-1}$  such that  $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 1$ . Note that by (22), such p, q, and r exist. Indeed, one can set

$$p = rac{1}{1-lpha+arepsilon}, \quad q = rac{1}{1-\gamma+arepsilon}, \quad r = rac{1}{arepsilon}, \quad arepsilon = rac{lpha+\gamma-1}{3}.$$

Then, it is easy to see that  $0 < \varepsilon < \frac{1}{3}$ , r > 3,  $p < (1 - \alpha)^{-1}$ ,  $q < (1 - \gamma)^{-1}$ , and

$$\frac{1}{p} + \frac{1}{q} + \frac{1}{r} = 2 - \alpha - \gamma + 3\varepsilon = 1.$$

Let h > 0 be arbitrary and fixed. By Theorem 1, it suffices to prove the existence of a unique solution of integral Equation (9) on  $I_h$ . Let  $X_h = C[a, a + h)$  be the Banach space equipped with the norm  $|u| = \sup_{t \in I_h} ||u(t)||$ . Define the operator  $\mathcal{F} \colon X_h \to X_h$  by

$$\mathcal{F}(x)(t) = e^{-\lambda \Psi(t)} x_a^0 + \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) f(s,x(s)) \, ds, \quad t \in I_h.$$
(23)

If  $x, y \in X_h$ , then by using conditions H1 and H2, we obtain

$$\begin{aligned} \|\mathcal{F}(x)(t) - \mathcal{F}(y)(t)\| &\leq \frac{1}{\Gamma(\alpha)} \int_{a}^{t} \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) \underbrace{\Psi(s)^{1-\gamma} \|f(s,x(s)) - f(s,y(s))\|}_{\leq s^{1-\gamma} \|f(s,x(s)) - f(s,y(s))\|} ds \\ &\leq \frac{1}{\Gamma(\alpha)} \int_{a}^{t} \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) \underbrace{s^{1-\gamma} \|f(s,x(s)) - f(s,y(s))\|}_{\leq L \|x(s) - y(s)\|} ds \\ &\leq L \Big( \frac{1}{\Gamma(\alpha)} \int_{a}^{t} \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) ds \Big) |x - y|. \end{aligned}$$
(24)

By applying Corollary 1, we obtain

$$\|\mathcal{F}(x)(t) - \mathcal{F}(y)(t)\| \le \frac{2^{\frac{r-1}{r}}LK}{\Gamma(\alpha)} \left(\frac{\mathrm{e}^{r\Psi(t)} - \mathrm{e}^{r\Psi(a)}}{r}\right)^{\frac{1}{r}} |x - y|$$
(25)

for all  $t \in [a, a + h)$ . Hence, we obtain

$$|\mathcal{F}(x) - \mathcal{F}(y)| \le \frac{2^{\frac{r-1}{r}}LK}{\Gamma(\alpha)} \left(\frac{\mathrm{e}^{r\Psi(a+h)} - \mathrm{e}^{r\Psi(a)}}{r}\right)^{\frac{1}{r}} |x-y|.$$
(26)

Since the coefficient on the right side of the above inequality tends to 0 as  $h \to 0^+$ , for h > 0 sufficiently small, operator  $\mathcal{F}$  is contractive. The Banach fixed point theorem yields the existence of a unique fixed point.  $\Box$ 

**Remark 1.** If condition H1 holds only for all (t, x),  $(t, y) \in [a, a + H) \times \mathbb{R}^N$  for some H > 0, *Theorem 3 remains valid with* 0 < h < H.

Next, we present a version of Theorem 3 under the local "Lipschitz condition" **H1**′ There is  $\gamma \in (0, 1)$  such that

$$t^{1-\gamma} \|f(t,x) - f(t,y)\| \le L \|x - y\| \quad \text{for all } (t,x), (t,y) \in [a,\infty) \times B_R$$
  
for some  $R > 0$ , where  $B_R = \{z \in \mathbb{R}^N \mid \|z - e^{-\lambda \Psi(a)} x_a^0\| \le R\}.$ 

**Theorem 4.** Theorem 3 remains valid if H1 is replaced by H1'.

**Proof.** Let *p*, *q*, and *r* be as in the proof of Theorem 3. Let us fix h > 0 such that

$$\|e^{-\lambda \Psi(a+h)} x_a^0 - e^{-\lambda \Psi(a)} x_a^0\| \le \frac{R}{2}.$$
(27)

Let us consider the set

$$X_h = \left\{ u \in C[a, a+h) \left| \sup_{t \in I_h} \|u(t) - e^{-\lambda \Psi(t)} x_a^0\| \le \frac{R}{2} \right\}$$

equipped with the supremum norm  $|\cdot|$  and define the operator  $\mathcal{F} \colon X_h \to C[a, a+h)$  by (23). Clearly,  $(X_h, |\cdot|)$  is a Banach space. Let us denote  $M := \sup_{(s,x)\in I_h\times B_R} ||f(s,x)||$ . Then, for  $(t,x) \in I_h \times X_h$ ,

$$\|\mathcal{F}(x)(t) - \mathrm{e}^{-\lambda \Psi(t)} x_a^0\| \leq \frac{M}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) \, ds.$$

The substitution  $\lambda(\Psi(t) - \Psi(s)) = \sigma$  yields

$$\begin{split} \|\mathcal{F}(x)(t) - \mathrm{e}^{-\lambda \Psi(t)} x_a^0\| &\leq \frac{M}{\Gamma(\alpha)\lambda^{\alpha}} \int_0^{\lambda(\Psi(t) - \Psi(a))} \sigma^{\alpha - 1} \mathrm{e}^{-\sigma} d\sigma \\ &= \frac{M \gamma(\alpha, \lambda(\Psi(t) - \Psi(a)))}{\Gamma(\alpha)\lambda^{\alpha}}, \end{split}$$

where  $\gamma(\cdot, \cdot)$  is the incomplete gamma function (see, e.g., [42]). Note that  $\gamma(\alpha, \lambda(\Psi(t) - \Psi(a))) \rightarrow 0^+$  as  $t \rightarrow a^+$ . So, if h > 0 is sufficiently small, then  $\mathcal{F} \colon X_h \rightarrow X_h$ . Now, if  $x \in X_h$ , then

$$\begin{split} \sup_{t \in I_h} \|x(t) - e^{-\lambda \Psi(a)} x_a^0\| &\leq \sup_{t \in I_h} \|x(t) - e^{-\lambda \Psi(t)} x_a^0\| \\ &\quad + \sup_{t \in I_h} \|e^{-\lambda \Psi(t)} x_a^0 - e^{-\lambda \Psi(a)} x_a^0\| \\ &\leq \frac{R}{2} + \frac{R}{2} = R \end{split}$$

by the property of  $X_h$  and (27). Hence,  $x(t) \in B_R$  for all  $t \in I_h$ . As a consequence, one can show exactly as in the proof of Theorem 3 that  $\mathcal{F}$  is a contraction by assuming that h > 0 is small enough. The use of the Banach fixed point theorem completes the proof.  $\Box$ 

The following examples illustrate the above existence results.

**Example 1.** Let us consider the initial value problem

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = c, \quad t \ge a,$$

$$x_{\lambda,\Psi}^{[0]}(a) = x_{a}^{0}$$
(28)

for some  $c, x_a^0 \in \mathbb{R}$ ;  $\alpha \in (0, 1)$ ;  $\lambda > 0$ ; and  $\Psi \in C^1[a, \infty)$  satisfying condition H2 and  $\Psi'(t) > 0$  for all  $t \ge a$ .

It is obvious that condition H1 is fulfilled for any  $\gamma \in (0, 1)$  and  $L \ge 0$ . Theorem 3 gives the existence of a unique solution to (28). In this case, it can be evaluated from the integral equation

$$\begin{aligned} x(t) &= \mathrm{e}^{-\lambda \Psi(t)} x_a^0 + \frac{c}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) \, ds \\ &= \mathrm{e}^{-\lambda \Psi(t)} x_a^0 + \frac{c \, \gamma(\alpha, \lambda(\Psi(t) - \Psi(a)))}{\Gamma(\alpha)} \end{aligned}$$

Example 2. Let us consider the initial value problem

$${}^{C}D_{a}^{\alpha,\lambda,\Psi}x(t) = \frac{\mathrm{e}^{-\lambda\Psi(t)}\Gamma(1-\beta)}{\Gamma(1-\alpha-\beta)} \left(\mathrm{e}^{\lambda\Psi(t)}x(t) - x_{a}^{0}\right)^{\frac{\alpha+\beta}{\beta}}, \quad t \ge a,$$

$$x_{\lambda,\Psi}^{[0]}(a) = x_{a}^{0}$$
(29)

for some  $x_a^0 \in \mathbb{R}$ ;  $\alpha, \beta \in (0, 1)$ ;  $\alpha + \beta < 1$ ;  $\lambda > 0$ ; and  $\Psi \in C^1[a, \infty)$  satisfying condition H2 and  $\Psi'(t) > 0$  for all  $t \ge a$ .

$$\begin{aligned} |f(t,x) - f(t,y)| &= \frac{\mathrm{e}^{-\lambda\Psi(t)}\Gamma(1-\beta)}{\Gamma(1-\alpha-\beta)} \left| \left( \mathrm{e}^{\lambda\Psi(t)}x - x_a^0 \right)^{\frac{\alpha+\beta}{\beta}} - \left( \mathrm{e}^{\lambda\Psi(t)}y - x_a^0 \right)^{\frac{\alpha+\beta}{\beta}} \right. \\ &= \frac{(\alpha+\beta)\mathrm{e}^{-\lambda\Psi(t)}\Gamma(1-\beta)}{\beta\Gamma(1-\alpha-\beta)} \left| \mathrm{e}^{\lambda\Psi(t)}\theta - x_a^0 \right|^{\frac{\alpha}{\beta}} |x-y| \end{aligned}$$

for some  $\theta$  between x and y. If  $x, y \in B_R$  for some R > 0, then  $\theta \in B_R$ , and one obtains

$$\begin{split} \left| \mathrm{e}^{\lambda \Psi(t)} \theta - x_a^0 \right|^{\frac{\alpha}{\beta}} &= \mathrm{e}^{\frac{\alpha \lambda \Psi(t)}{\beta}} \left| \theta - \mathrm{e}^{-\lambda \Psi(t)} x_a^0 \right|^{\frac{\alpha}{\beta}} \\ &\leq \mathrm{e}^{\frac{\alpha \lambda \Psi(t)}{\beta}} \left( \left| \theta - \mathrm{e}^{-\lambda \Psi(a)} x_a^0 \right| + \left| \mathrm{e}^{-\lambda \Psi(a)} x_a^0 - \mathrm{e}^{-\lambda \Psi(t)} x_a^0 \right| \right)^{\frac{\alpha}{\beta}} \\ &\leq \mathrm{e}^{\frac{\alpha \lambda \Psi(t)}{\beta}} \left( 2R \right)^{\frac{\alpha}{\beta}} \end{split}$$

for all *t* sufficiently close to *a*, let us say that  $t \in [a, a + H)$  for some H > 0. Consequently,

$$|f(t,x) - f(t,y)| \le t^{\gamma-1} \left[ \frac{(\alpha+\beta) \Gamma(1-\beta) (2R)^{\frac{\alpha}{\beta}}}{\beta \Gamma(1-\alpha-\beta)} e^{\lambda \Psi(t) \left(1-\frac{\alpha}{\beta}\right)} t^{1-\gamma} \right] |x-y|.$$

Now, one can take the supremum of the bracket over all  $t \in [a, a + H)$  as the constant *L*. It results that condition H1' is fulfilled for all  $t \in [a, a + H)$ . The use of Theorem 4 along with a remark analogous to Remark 1 proves the existence of a unique solution to (29). It can be easily verified that the solution is given by

$$x(t) = \mathrm{e}^{-\lambda \Psi(t)} \Big( x_a^0 + (\Psi(t) - \Psi(a))^{-\beta} \Big).$$

Next, we give a result on the nonexistence of a blow-up solution. This means that under certain conditions, every solution of the initial value problem is bounded. We need one more assumption.

**H3** There is  $\gamma \in (0, 1)$  such that

$$t^{1-\gamma} \| f(t,x) \| \le F(t)\omega(\|x\|) \quad \text{for all } (t,x) \in [a,\infty) \times \mathbb{R}^N.$$

**Theorem 5.** Let  $\alpha \in (0,1)$ ,  $\lambda > 0$ , and  $\Psi \in C^1[a,\infty)$  satisfy condition H2 and  $\Psi'(t) > 0$  for all  $t \in (a,\infty)$ . Let us assume that condition H3 is fulfilled for some positive function  $F \in C[a,\infty)$ . Moreover, let (22) hold and

$$\int_{v_0}^{\infty} \frac{\sigma^{r-1} d\sigma}{\omega(\sigma)^r} = \infty$$
(30)

for some  $r > (\alpha + \gamma - 1)^{-1}$  and  $v_0 \ge 0$ . Then, there is no blow-up solution to initial value problem (7) and (8).

**Proof.** Let us set

$$\varepsilon = \frac{1}{2} \left( \alpha + \gamma - 1 - \frac{1}{r} \right), \quad p = \frac{1}{1 - \alpha + \varepsilon}, \quad q = \frac{1}{1 - \gamma + \varepsilon}.$$

Then,  $0 < \varepsilon < \frac{1}{2} \min\{\alpha, \gamma\}, 1 < p < (1 - \alpha)^{-1}, 1 < q < (1 - \gamma)^{-1}, 1 < r$ , and

$$\frac{1}{p} + \frac{1}{q} = 2 - \alpha - \gamma + 2\varepsilon = 1 - \frac{1}{r}.$$

Let  $x: [a, T) \to \mathbb{R}^N$  be a continuous solution of integral Equation (9) with  $a < T < \infty$ , and  $\lim_{t\to T^-} ||x(t)|| = \infty$ . Analogously to estimates (24), by using H3, we derive, for  $t \in [a, T)$ ,

$$\begin{split} \|x(t)\| &\leq \|x_a^0\| + \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\lambda}(t,s) \|f(s,x(s))\| \, ds \\ &\leq \|x_a^0\| + \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) s^{1-\gamma} \|f(s,x(s))\| \, ds \\ &\leq \|x_a^0\| + \frac{1}{\Gamma(\alpha)} \int_a^t \mathcal{K}_{\Psi}^{\alpha,\gamma,\lambda}(t,s) F(s) \omega(\|x(s)\|) \, ds. \end{split}$$

From Theorem 2, it follows that

$$\begin{aligned} \Xi(\|x(t)\|^{r}) &= \int_{v_{0}}^{\|x(t)\|^{r}} \frac{dz}{\omega(z^{1/r})^{r}} \\ &= r \int_{v_{0}^{1/r}}^{\|x(t)\|} \frac{\sigma^{r-1} d\sigma}{\omega(\sigma)^{r}} \\ &\leq \Xi(2^{r-1}\|x_{a}^{0}\|^{r}) + \frac{2^{r-1}K^{r}}{\Gamma(\alpha)^{r}} \int_{a}^{t} e^{r\Psi(s)} \Psi'(s) F(s)^{r} ds \quad \text{for all } t \in [a, T), \end{aligned}$$
(31)

where K is given by (14). Since

$$\lim_{t \to T^{-}} \int_{v_0^{1/r}}^{\|x(t)\|} \frac{\sigma^{r-1} d\sigma}{\omega(\sigma)^r} = \infty$$
(32)

and the limit of the right-hand side of inequality (31) is finite as  $t \to T^-$ , we have a contradiction. This completes the proof.  $\Box$ 

## Example 3. Let us consider the initial value problem

$${}^{C}D_{1}^{\frac{1}{4},\lambda,\Psi}x(t) = \frac{x(t)\,\Gamma(\frac{3}{4})}{\sqrt{\pi}\left(\sqrt{\sqrt{t-1}} + (\sqrt{t}-1)^{\frac{1}{4}}\right)}, \quad t \ge 1,$$

$$x_{\lambda,\Psi}^{[0]}(1) = 1$$
(33)

with  $\Psi(t) = \sqrt{t}$  for  $t \ge 1$  and  $\lambda > 0$ .

For  $\gamma = \frac{7}{8}$ , condition **H3** has the form

$$t^{1-\gamma}|f(t,x)| \le \frac{t^{\frac{2}{8}} \Gamma(\frac{3}{4})}{\sqrt{\pi} \left(\sqrt{\sqrt{t-1}} + (\sqrt{t-1})^{\frac{1}{4}}\right)} |x|.$$

Since

$$\int_{v_0}^{\infty} \frac{\sigma^{r-1} \, d\sigma}{\sigma^r} = \int_{v_0}^{\infty} \frac{d\sigma}{\sigma} = \infty$$

for any fixed  $v_0 > 0$  and arbitrary r > 8, all assumptions of Theorem 5 are fulfilled. Therefore, initial value problem (33) does not possess a blow-up solution. It can be verified that its solution is given by

$$x(t) = e^{-\lambda\sqrt{t}} \left( 1 + (\sqrt{t} - 1)^{-\frac{1}{4}} \right).$$

$$\int_{v_0}^{\infty} \frac{\sigma^{r-1} d\sigma}{\omega(\sigma)^r} = \int_{v_0}^{\infty} \frac{\sigma^{r-1} d\sigma}{\ln(\sigma^r + c)} = \frac{1}{r} \int_{v_0^r}^{\infty} \frac{d\tau}{\ln(\tau + c)} = \infty$$

for any fixed  $v_0 \ge 0$  and appropriate r.

### 5. Conclusions

In this paper, new definitions of fractional derivatives of order  $\alpha$  for  $n - 1 < \alpha < n \in \mathbb{N}$  were presented, namely, the tempered  $\Psi$ -Riemann–Liouville fractional derivative and the tempered  $\Psi$ -Caputo fractional derivative. Both definitions were given for only  $C^{n-1}$ -functions, unlike the recent definition of the Caputo one from [31], which required a  $C^n$ -function. Next, a new Henry-type nonlinear integral inequality with a weakly singular kernel was derived. It was applied to prove the existence of a unique solution of an initial value problem corresponding to fractional differential equations with the tempered  $\Psi$ -Caputo derivative. A result on nonexistence of a blow-up solution was also proved. Illustrative examples of initial value problems were given.

Additional potential uses of the new nonlinear integral inequality include investigating the stability, asymptotics, and controllability of solutions to initial value problems; the study of boundedness and other asymptotic properties of nonoscillatory solutions like in [43,44]; or generalization to retarded or stochastic integral inequalities as mentioned in Section 1.

**Author Contributions:** Conceptualization, M.M. and M.P.; methodology, M.M. and M.P.; investigation, M.M., M.P. and E.B.; validation, M.P., M.M. and E.B.; writing—original draft preparation, M.M. and M.P.; writing—review and editing, M.P., M.M. and E.B.; supervision, M.M. All authors have read and agreed to the published version of the manuscript.

Funding: This work was supported by the grants VEGA 1/0084/23 and VEGA 2/0062/24.

Data Availability Statement: Data is contained within the article.

**Acknowledgments:** The authors thank the anonymous reviewers for their valuable comments and suggestions.

**Conflicts of Interest:** The authors declare no conflicts of interest. The funders had no role in the design of the study; in the collection, analyses, or interpretation of data; in the writing of the manuscript; or in the decision to publish the results.

#### References

- 1. Bainov, D.; Simeonov, P. Integral Inequalities and Applications; Kluwer Academic Publishers: Dordrecht, The Netherlands, 1992. [CrossRef]
- Pachpatte, B.G. Inequalities for Differential and Integral Equations; Mathematics in Science and Engineering; Academic Press: Cambridge, MA, USA, 1998; Volume 197.
- 3. Pachpatte, B.G. Integral and Finite Difference Inequalities and Applications; North-Holland Mathematics Studies; Elsevier: Amsterdam, The Netherlands, 2006; Volume 205.
- 4. Bihari, I. A generalization of a lemma of Bellman and its application to uniqueness problem of differential equations. *Acta Math. Acad. Sci. Hung.* **1957**, *7*, 71–94. [CrossRef]
- 5. Henry, D. *Geometric Theory of Semilinear Parabolic Equations;* Lecture Notes in Mathematics; Springer: Berlin/Heidelberg, Germany, 1981. [CrossRef]
- 6. Medved', M. A new approach to an analysis of Henry type integral inequalities and their Bihari type versions. *J. Math. Anal. Appl.* **1997**, 214, 349–366. [CrossRef]
- Medved', M. Integral inequalities and global solutions of semilinear evolution equations. J. Math. Anal. Appl. 2002, 267, 634–650.
   [CrossRef]
- 8. Alsaedi, A.; Ahmad, B.; Kirane, M. A survey of useful inequalities in fractional calculus. *Fract. Calc. Appl. Anal.* **2017**, *20*, 574–594. [CrossRef]
- 9. Kirane, M.; Tatar, N.E. Global existence and stability of some semilinear problems. Arch. Math. 2000, 36, 33-44.
- 10. Medved', M. Singular integral inequalities and stability of semilinear parabolic equations. Arch. Math. 1998, 34, 183–190.

- 11. Tatar, N.E. The role of an integral inequalities in the study of certain differential equations. J. Ineq. Pure Appl. Math. 2005, 6, 1–13.
- 12. Qin, Y. Integral and Discrete Inequalities and Their Applications, Volume I: Linear Inequalities; Birkhäuser: Cham, The Netherlands, 2016. [CrossRef]
- 13. Qin, Y. Integral and Discrete Inequalities and Their Applications, Volume II: Nonlinear Inequalities; Birkhäuser: Cham, The Netherlands, 2016. [CrossRef]
- 14. Medved', M. Singular integral inequalities with several nonlinearities and integral equations with singular kernels. *Nonlinear Oscil.* **2008**, *11*, 70–79. [CrossRef]
- 15. Webb, J.R.L. Weakly singular Gronwall inequalities and applications to fractional differential equations. *J. Math. Anal. Appl.* **2019**, 471, 692–771. [CrossRef]
- 16. Lan, K.; Webb, J.R.L. A new Bihari inequality and initial value problems of first order fractional differential equations. *Fract. Calc. Appl. Anal.* **2023**, *26*, 962–988. [CrossRef] [PubMed]
- 17. Zhu, T. New Henry–Gronwall inequalities and their applications to fractional differential equations. *Bull. Braz. Math. Soc.* 2018, 49, 647–657. [CrossRef]
- Zhu, T. Fractional integral inequalities and global solutions of fractional differential equations. *Electron. J. Qual. Theory Differ. Equ.* 2020, 2020, 1–16. [CrossRef]
- 19. Medved', M. Asymptotic integration of some classes of fractional differential equations. *Tatra Mt. Math. Publ.* **2013**, *54*, 119–132. [CrossRef]
- Medved', M.; Pospíšil, M. Asymptotic integration of fractional differential equations with integrodifferential right-hand side. *Math. Model. Anal.* 2015, 20, 471–489. [CrossRef]
- 21. Kassim, M.D.; Tatar, N.E. Convergence of solutions of fractional differential equations to power-type functions. *Electron. J. Differ. Equ.* **2020**, 2020, 1–14.
- Grace, S.R.; Graef, J.R. On the asymptotic behavior of solutions of certain forced third order integro-differential equations with δ–Laplacian. *Appl. Math. Lett.* 2018, 83, 40–45. [CrossRef]
- Grace, S.R.; Graef, J.R.; Tunç, E. Asymptotic behavior of solutions of forced fractional differential equations. *Electron. J. Qual. Theory Differ. Equ.* 2016, 1–9. [CrossRef]
- Grace, S.R.; Graef, J.R.; Tunç, E. Asymptotic behavior of solutions of *N*-th order forced integro-differential equations with β–Laplacian. *Hacet. J. Math. Stat.* 2023, 52, 923–930. [CrossRef]
- 25. Ahmad, A.M.; Furati, K.M.; Tatar, N.E. Boundedness and power-type decay of solutions for a class of generalized fractional Langevin equations. *Arab. J. Math.* **2019**, *8*, 79–94. [CrossRef]
- 26. Brestovanská, E.; Medved', M. Asymptotic behavior of solutions to second-order differential equations with fractional derivative perturbations. *Electron. J. Differ. Equ.* **2014**, 2014, 1–10.
- 27. Lin, Y.; Wu, S.; Wang, W.S. A Nonlinear Weakly Singular Retarded Henry–Gronwall Type Integral Inequality and Its Application. *J. Appl. Math.* **2014**, 2014, 218507.
- Mekki, S.; Nieto, J.J.; Ouahab, A. Stochastic version of Henry type Gronwall's inequality. *Infin. Dimens. Anal. Quantum Probab. Relat. Top.* 2021, 24, 2150013. [CrossRef]
- 29. Dien, N.M. Weakly singular Henry–Gronwall–Bihari type inequalities and their applications. *J. Math. Ineq.* **2022**, *16*, 289–306. [CrossRef]
- 30. Medved', M.; Pospíšil, M.; Brestovanská, E. Nonlinear integral inequalities involving tempered Ψ–Hilfer fractional integral and fractional equations with tempered Ψ–Caputo fractional derivative. *Fractal Fract.* **2023**, *7*, 611. [CrossRef]
- Medved', M.; Brestovanská, E. Differential equations with tempered Ψ–Caputo fractional derivative. *Math. Model. Appl.* 2019, 26, 631–650. [CrossRef]
- Sousa, J.V.C.; Oliveira, E.C.d. On the Ψ-Hilfer fractional derivative. *Commun. Nonlinear Sci. Numer. Simulat.* 2018, 60, 72–91. [CrossRef]
- 33. Sousa, J.V.C.; Oliveira, E.C.d. A Gronwall inequality and the Cauchy-type problems by means of Ψ–Hilfer operator. *Differ. Equ. Appl.* **2019**, *11*, 87–106. [CrossRef]
- 34. Almeida, R.; Malinowska, A.; Monteiro, M. Fractional differential equations with a Caputo derivative with respect to a Kernel function and their applications. *Math. Meth. Appl. Sci.* **2018**, *41*, 336–352. [CrossRef]
- 35. Almeida, R. A Caputo fractional derivative of a function with respect to another function. *Commun. Nonlinear Sci. Numer. Simul.* **2017**, 44, 460–481. [CrossRef]
- Kilbas, A.; Srivastava, H.; Trujillo, J. *Theory and Applications of Fractional Differential Equations*; North-Holland Mathematics Studies; Elsevier Science B.V.: Amsterdam, The Netherlands, 2006; Volume 204.
- Medved', M.; Pospíšil, M. Generalized Laplace transform and tempered Ψ–Caputo fractional derivative. *Math. Model. Anal.* 2023, 28, 146–162. [CrossRef]
- 38. Kufner, A.; John, O.; Fučík, S. Function Spaces; Academia: Prague, Czech Republic, 1977.
- 39. Zeidler, E. *Applied Functional Analysis: Main Principles and Their Applications;* Applied Mathematical Sciences; Springer: New York, NY, USA, 1995; Volume 109. [CrossRef]
- 40. Butler, G.; Rogers, T. A generalization of a lemma of Bihari and applications to piecewise estimates for integral equations. *J. Math. Anal. Appl.* **1971**, *33*, 77–81. [CrossRef]

- 42. Lebedev, N.N. Special Functions and Their Applications; Prentice-Hall, Inc.: Saddle River, NJ, USA, 1965.
- 43. Grace, S.R.; Graef, J.R.; Tunç, E. On the boundedness of nonoscillatory solutions of certain fractional differential equations with positive and negative terms. *Appl. Math. Lett.* **2019**, *97*, 114–120. [CrossRef]
- 44. Graef, J.R.; Grace, S.R.; Tunç, E. On the asymptotic behavior of nonoscillatory solutions of certain fractional differential equations with positive and negative terms. *Opusc. Math.* **2020**, *40*, 227–239. [CrossRef]

**Disclaimer/Publisher's Note:** The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.